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" T.Y. B.Com. EXAMINATION, 2010
BUSINESS REGULATORY FRAMEWORK (Merchantile Law)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

L

(i) Figures to the right indicate full marks.

L. Answer the following questions in 20 words each (any ten) : [20]
(i) ~What is ‘Consideration’ ?
(it) What is ‘Implied Contract’ ?
(zit) Define ‘Person of sound .rnincl’.
(flv) What is ‘Mis-representation’ ?
(v) Define ‘Contract of Indemnity’.
(vi) State types of Guarantee.
(viz) What is Implied Conditions and Warranties ?
(viti) Define ‘Unpaid Seller’.
(ix) Define ‘Negotiation of Negotiable Instrument’.
(x) What is ‘Payment for Honour’ ?
(xi) Define the term ‘Consumer’,
(xiz) What is ‘Sub-Partner’ under the Partnership Act, | 1932.
(xiit) What is ‘Minor Partner’ under the Partnership Act, 1932.
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2.  Answer the following questions in 50 words each (any fwo) : [10]

(£)
(i1)

(fzz)

(i) I

.State the characteristics of wvalid consideration.
Distinguish between ‘Pledge’ and ‘Bailment’
Explain essential elements of Contract of Sale of Goods.

State the duties and liabilities of consumer. ’

3. Answer the following questions in 150 words each (any two) : [20]

(z)

(i%)

(i1)

(iv)

What is Quasi-contract ? Explain the provisions regarding
Quasi-contract.

Explain the duties and rights of the ‘Principal’ under the
Contract of Agency.

Explain in brief the structure, objectives and working of the
Consumer Protection Councils under Consumer Protection Act,
1986.

Explain types of Partners.

4.  Answer the following questions in 800 words each (any two) : [30]

(@)

(i)

(#i1)

(fv)
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Define ‘Acceptance of a Proposal’. Explain the legal rules
as to the acceptance of a proposal.

Define ‘Sale’ and ‘Agreement to Sell. Distinguish between Sale
and Agreement to Sell.

Define ‘Holder’ and ‘Holder in Due Course’ of a negotiable
instrument. Explain the special privileges of holder in due
course under the Negotiable Instrument Act, 1831.
Explain the provisions relating to Admission, Retirement and

Expulsion of a partner under Partnership Act, 1932
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T.Y. B.Com. EXAMINATION, 2010
ADVANCED ACCOUNTING
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. —

(£)

All questions are compulsory.

(ii) Tigures to the right indicate full marks.

(izi) Use of calculator is allowed.

Fill in the blanks (any six) : , [6]
(i) The asset not required for doing banking bﬁsiness but
. acquired by the bank is called as ... ;
(i) The commission on reinsurance accepted is an item of

........................ for an Insurance Company.

(iii) Average clause in case of .Lnss. of Stock is applicable
whenkthe ...l iGrnaeee is more than the amount of
policy.

(LR e M vver price include amount of interest for the

(v)

period for which the seller held the securities.

For cancellation of loading in Branch opening stock

cesesvennnnrs Account is debited, by the Head Office.
PG



(vi) Discount received is apportioned on the basis of
. ratio.

(vii) Produce consumed by proprietor is debited to .......................
Aucuunﬁ.

(viii) Statement of Affairs is prepared to find out .....ccocreeel

(ix) Bills Receivable. and Debtors are ................. assets.

(£)  cioevreverreresieien.. Account is prepared to find out credit
sales.
(B) State whether the following statements are True or False
(any four) : [4]
(i)  Profit on exchange transactions is appeared under schedule
No. 15 of Banking Company’s Final Account.

(i) Indemnity Ratio is a ratio between amount of policy and
sales for last accounting year.

(iii) 50% on cost price is equal to 33%% on selling price.

(iv) Expenses for which no direct basis is available in
deparitmental accounts are usually charged on the basis
of sales ratio.

(v) Ratio Analysis is a technique of planning and control.
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The following is the Trial Balance of Manisha Bank Itd., Pune as
on 31st March, 2010. You are required to prepare the Profit &
Loss Afc for the year ended 31st March, 2010 and Balance Sheet

as on that date in a prescribed form :

Trial Balance
Particulars ~ Debit Credit
(Rs.) (Rs.)
Subscribed Capital
1,50,000 Equity shares of Rs. 10 each
fully paid 15,?0,000
Reserve Fund 9,00,000
Loans, Cash credit and Overdrafts 5,70,000
Premises | 6,00,000
Government Securities 3,00,000
Gold 1,00,000
Other approved securities 4,00,000
Current Deposits 200,000
Fixed Deposits 2,560,000
Payments to employees 56,000
General Expenses 54,800
Rent, Rates and Taxes 4,600
Savings Bank Deposits 1,00,000
Directors Fees 3,600
Profit and Loss Account (1-4-2009) 32,000
[3769]-302 3 PTO.



Interest and Discount - 3.56,000
Stock of Stationery 17,000
Bills Purchased and Discounted 1,92,000
Interim Dividend Paid _ 34,000
Recurring Deposits 40,000
Shares 1,00,000
Cash in Hand 1,36,000
Balance with Reserve Bank of India 2,50,000
Balance with other Banks 50,000
Money at call and short notice 50,000
Owing by Fnreigﬁ Correspondents 60,000
99,78,000 | 29,78,000

Adjustments

(i) The Authorised share capital of the Bank is 3,00,000 Equity
shares of Rs. 10 each.

(;i) Provision for Bad and Doubtful Debts is required to Rs. 10,000.

(iii) Rebate on bills discounted amounted to Rs. 760.

(jv) Interim Dividend declared was 4% actual.

(v) = Endorsements made on behalf of customers totalled Rs. 90,000.

(vi) Bills for collection as on 91-3-2010 amounted to Rs. 5,00,000.

(vii) Rs. 1,20,000 were added to the Premises during the year and
‘Depreciation is allowed at 5% p.a. on the opening balance.

(viii) Provision for Taxation amounted to Rs. 1,00,000, [20]
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Or

From the following balances of General Insurance Company Ltd. as

on 31st March, 2010, prepare :
(@) Fire Revenule Ale

(b) Marine Revenue A/c and
(¢) Profit and Loss Alc

for the year ended 31st March, 2010.

Particulars Rs.

Bad debts (fire) 10,000
Bad debts (marine) 24,000
Auditor’s fees 6,000
Director’s fees 6,400
Share transfer fees 1,600
Bad debts recovered 2,400
Reserve (fire as on 1-4-2009) 5,00,000
Reserve (marine as on 1-4-2009) 16,40,000
Claims paid and outstanding (fire) 3,80,000
Claims paid and outstanding (marine) 7,60,000
Commission paid (fire) 1,80,000
Commisgsion paid (marine) 2,16,000
‘Additional Reserve (fire) on 1-4-2009 1,00,000
Depreciation 70,000
[3769]-302 5 PTO.




Interest, dividend received - 28,000
Difference in exchange (Cr.) | 600
Miscellaneous receipt | 10,000
Profit on sale of land L 1,20,000
Fire premium less reinsurances 12,00,000
Marine premium less reinsurances 21,60,000
Management expenses (fire) : 2,90,000
Management expenses (marine) J 8,00,000
Commission earned on reinsurance ceded (fire) 60,000
Commission earned on reinsurance ceded (marine) 1,20,000

In addition to the usual reserve, additional reserve in case of fire

insurance is to be increased by 5% of net premiums. [20]

3. (A) Laxmi Finance Ltd., Pune held as on 1-4-2009 Rs 5,00,000
(Cost Rs. 4,90,000) 6% Government of India Loan as Investment,
on which interest is receivable on 1st January and 1st July
.every year. The following Purchases and Sales were made out
of these Investments during the accounting year ended 31st
.March, 2010.

On 1-8-2009  Purchases Face Value Rs. 1,00,000 @ Rs. 102
Cum-Interest,.
On 1-11-2009 Sales Face Value Rs. 5,00,000 @ Rs. 104

Cum-Interest.
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~ 31st March, 2010, under FIFO method.

On 1-12-2009 Purchases Face Value Rs. 2,00,000 @ Rs. 105
Ex-Interest.

On 1-2-2010 Sales Face Value Rs. 1,560,000 @ Rs. 102

Ex-Interest.

Brokerage is paid on buying and selling loan at 20 paise per

Rs. 100.

Government Loan has nominal value of Rs. 100 each. On 31st

March, 2010 the market price was Rs. 107.

Prepare 6% Government of India Loan Account closing it on

[15]

(B) The following are the summarised Trading and Profit & Loss
Accounts for the year ended 31-3-2010 and Balance Sheets as
on 31-3-2010 of Ajay Ltd. and Vijay Ltd.

Trading and Profit & Loss Account

(for_ the year ended 31-3-2010)

Particulars Ajay Ltd.| Vijay Ltd. | Particulars| Ajay Ltd. | Vijay Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)

To Opening Stock | 4,80,000 80,000 | By Sales 36,00,000| 36,00,000
To Purchases 33,19,000| 33,40,000 | By Closing
To Gross Profit 3,21,000|  3,00,000 Stock 5,20,000( 1,20,000

41,20,000| 37,20,000 41,20,000( 37,20,000
[3769]-302 7 PTO.



To Operating By Gross
Expenses : Ofﬁqe Profit 3,_21,000 3,00,000
& Administration | 1,00,000 50,000 '
Selling and
Distribution | 62,000 26,000
To Net_Pmﬁt 1,59,000 2,24,000
3,21,000{ 3,00,000 3,21,000( 3,00,000
Balance Sheets
(as on 31-3-2010)
Liabilities Ajay Ltd. | Vijay Ltd. | Assets Ajay Litd. | Vijay Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)
Share Capital 10,00,000| 12,00,000 | Fixed Assets | 12,80,000( - 10,75,000
Reserves 6,00,000| 4,00,000 |Stock 5,20,000  5,25,000
Profit & Loss Ale 1,00,000 80,000 | Debtors 4,00,000|  3,00,000
Creditors 5,560,000 3,20,000 | Cash 30,000 30,000
Bank overdraft 2,00,000 60,000 | Bank 2,20,000( 1,30,000
24,50,000( 20,60,000 24,60,000( 20,60,000

You are required to compute ‘the following ratios of the above

companies :

(i)
(21)
(i7)
(iw)
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Current Ratio
Liquid Ratio
Gross Profit Ratio

Stock Turnover Ratio.

8
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4. -~ (A)
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The following is the Trial Balance of Viraj Farm House as

on 31st March, 2010.
Trial Balance

(as on 31-3-2010)

Particulars Debit Credit

(Rs.) (Rs.)

Capital 3,15,000
Land & Building at cost 2,25,000

Opening Stocks —

Growing crops, Wheat 15,000
Livestock : Sheep 30,000
Feed for Livestock 3,000
Farm Machinery 27,000
Salary and Wages — Manager 9,000
Salary and Wages — Farm Workers 12,000
Farm House Expenses 4,500
Staff Meals 7,200
Crop Expenses 9,000
Purchase — Livestock 15,000
Maintenance — Livestock 18,000
Repairs Farm Machinery 1,200
Sheep Yard 900
Hand Tools & Equipments (1-4-2009) 3,000
Office Expenses 4,500
Interest 9,000
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Sale of Livestock 57,000
Sale of Wheat 78,000
Legal Fees 3,000
Sundry Debtors : 15,000
Sundry Creditors 3,000
Manager’s Personal Alc 1,500
Bank Balance 42,600
Repairs and Maintenance (Crop) 600

4,654,500 4,54,500

Additional Information :

(1)

(5)

(6)

The Manager is entitled to a commission of 10% on the
profit of Livestock section after charging such commission.
He is also chargeable 1/3rd of Farm House expenses.
Livestock section is to bear 10% Manager’s salary and
Staff meal.

Depreciate Farm Machinery by 10%.

Closing Stocks :

Growing Crops, Wheat Rs. 24,000
Livestock Rs. 45,000
IFeed Rs. 1,500
Handtools and Equipment Rs. 600

Rs. 6,000 worth of foodstuff grown in the Farm House

was used for the livestock.

Depreciation on Handtools and Equipments should be charged

to Crop A/c and Livestock A/c in the ratio pf® 3U Sl
10



Prepare :

(i) Crop Ale

(i) Livestock Alc

(iii) Balance Sheet

(iv) General P&L Al
Or

[15]

Mr. Avinash maintains his books by Single Entry System.

His Cash Book for LheQ year ended 31st March, 2010 was as

follows :
| Summary of Cash Book

Rs. Rs.
To Balance B/d 12,300 | By Investments 2,000
To Cash Sales 8,700 | By Avinash's Drawings | 6,500
To Debtors 35,700 | By Purchases 7,300
To Bills Receivable 15,300 | By Creditors 28,900
To Interest 1,500 | By Bills Payable 7,500
To Avinash’s Capital 10,000 | By Wages 17,300
To Balance C/d 3,730 | By Carriage Inwards 1,350
By Postage 550
By Salaries 12,000
By Rent & Taxes 930
By Insurance 700
By Printing & Stationery| 2,200
87,230 87,230
[3769]-302 11 PTO.



(B)
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Particulars of Assets and Liabilities were as follows :

1-4-2009 | 31-3-2010
Investments 15,000 17,000
Stock 13,700 29,300
Debtors : . 21,000 25,000
Bills Receivable 14,000 18,000
Creditors ' 31,000 29,000
Bills Payable 7,000 9,000
Plant and Machinery 45,000 42,500
Furniture 3,500 3,100
Adjustments : i

(1) A provision of Rs. 1,250 was necessary on Debtors for
doubtful debts.

(2) Outstanding Wages were Rs. 1,500 and Outstanding Salary
was Rs. 700.

(3) Imsurance was paid for one }réar ending on 30th September,
2010.

(4)  An Advertising bill was payable amounting to Rs. 400.

Prepare Trading and Profit & Loss Account for the year ended

31-3-2010 and Balance Sheet as on that date. [15]

Write a short note on any one :

(i) Inter-departmental Transfers

(i) Branch Stock Reserve Ale, [5]
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1Tl}tal No. of Questions—4] [Total No. of Printed Pages—4
' [3769]-303
T.Y. B.Com. EXAMINATION, 2010 '
| ECONOMICS
(Indian and Global Economic Development)
(2004 PATTERN) '
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(i) What is Economic Growth ?
(ii) State any two features of less developed economy.
(iii) What are the two types of measuring Agricultural Productivity ?
(iv) State the meaning of Industrialisation.
(v) State the meaninig of Globalisation.
(vi) Define small sector Indl.istry.
(vii) What is Capital Market ?
(viii) Define Planning.
(ix) Define Human Resource Development,
(x) Define Exchange Rate.
(xi) State the full form of ‘GATT.
(xiz) State any two types of Foreign Investment.

(xiii) What is Disinvestment 7

P.T.O.



2.  Answer the fﬂliowing questions in 50 words each (any two) : [10}

(z)

(i)

(zi)

(iv)

Distinguish between economic development and economic

growth.

State any five measures to improve agricultural marketing
in India.
What are the problems of education in less developed

countries ?

What is Euro-Dollar market ?

3. Answer the following questions in 150 words each (any two) : [20]

()

(it)

(2ii)

(iv)

State the features of Indian Economy as a less developed

economy.
State the problems of small scale industries in India.

State the challenges involved in initiating and sustaining

economic reforms in the developing countries.

What are the objectives and functions of W.T.O. ?

4,  Answer the following questions in 300 words each (any two) : [30]

(@)
(i1)
(#ii)

(iv)

[3769]-303

Explain the constraints on agricultural d{}veinpment in India.
Discuss the achievements and failures of Indian Planning.
Explain the objectives, functions and failures of IMF,

Explain the role of foreign capital in economic develapmcnt'

and the problems associated with it.
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Total No.

of Questions—4] [Total No. of Printed Pages—4
[3769]-304
T.Y. B.Com. EXAMINATION, 2010
ECONOMICS
(International Economics)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. —

(1) Attempt All questions.
(ii) Figures to the right indicate full marks.
(i7i) Draw neat diagrams wherever necessary.

(tv) Answer should be precise and to-the-point.

1.  Answer the following questions in 20 words each (any ten) : [20]

(i)
(£i)
(zit)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(x)
(xiL)

(xiii)

What is International Economics ?

What is meant by Comparative Cost ?
Define Protection Trade Policy.

What are the sfatir: gains of trade ?

Give the full form of E.C.M.

Define terms of trade.

What is meant by Balance of Payments ?
Define fixed exchange rate.

State any two problems of Foreign Capital.
What is meant by Foreign Capital ?
Define Import Policy.

What is meant by convertibility of Indian Rupee ?

Define Foreign Investment.

P.T.O.



2. Answer the ﬁ}llu.wing questions in 50 words each (any two) : [10]

(£)
(iz)
(iii)
(iv)

v

What are the objectives of SAARC ?
State the role of foreign capital in development.
State the effects of International Labour migration.

What are the objectives of Exchange Control ?

3. Answer the following questions in detail with 150 words each

(any

(2)
(2)
(i)

()

two) : [20]
State and explain the functions of International Monetary
Fund.

Explain the difference between Inter-regional trade and

International trade.

Explain the composition and direction of India’s foreign trade
since 1990,

Explain the merits and demerits of fixed exchange rate.

4. Answer the following questions in 300 words each (any two) : [30]

@)
(i1)

(£it)

(v)

* [3769]-304

State and explain the Ricardian theory of International Trade.
Explain in detail the arguments for and against free trade
policy.

Elaborate the causes of disequilibrium in the balance of

payments.

Explain the various methods of foreign exchange control.
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Total No. of Questions—4] [Total No. of Printed Pages—4
[3769]-306
4 b5 E'.Cﬂm' EXAMINATION, 2010
BUSINESS ADMINISTRATION
Paper II

(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(z£) Figures to the fight indicate full marks.

1 Answer in 20 words each (any ten) : [20]
(@) L.IC.
(b)  Underwriting Function
(¢c)  Debentures
(d) Manpower Planning
(e) SEBI
(f)  Job analysis
(@) LF.C.
() N.S.C.
(1)  Preference Shares
(/) Flexitiming
(k)  Self appraisal
()  Buyback of Shares
(i) ST TN

P.T.O.



9. Answer in 50 words each (any two) : | [10]
(@) Job Evaluation Methods
(b) Voluntary Retirement Scheme
(¢) Employee Morale
(d) Credit Rating.

3.  Answer in 150 words each (any two) : [20]

(@) What is the role of ‘Welfare Administration’ in improving the

morale of the employee ?
(b)) Explain the scope of Job Analysis.
(¢) Which factors are considered in the selection of employees ?

(d) Explain the importance of retaining the employees.

4. Answer in 300 words each (any two) : [30]

(@) Distinguish between Human Resource Management and Personnel
Management.

(b) Define Working Capital. What are the sources of obtaining
the working capital ?

(¢) State various methods of Employee Remuneration and Incentive

Plans.

(d) What is the role of Share Market in financial market ?

[3769]-306 2
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T.Y. B.Com. EXAMINATION, 2010
CO-OPERATION AND RURAL DEVELOPMENT
| Paper II
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — (i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]
(1) What do you mean by Shareholder ?
(2) State the two functions of NABARD.
(3)  Define Consumer Co-operatives.
(4)  State the two objectives of Adult Education in Rural Development
Programme.
(6) What do you mean by Board of Directors ?
(6) State the two schemes of Health and Sanitation.
(7) What do you mean by Poultry Farm ?
(8) Write the tw;ﬁ objectives of NCDC.
(9) State the fwo problems of Processing Co-operative Societies.
(10) State the fwo advantages of Dairy Farms.
(11) Define Multipurpose Co-operative Societies.
(12) State the fwo problems of Sugar Co-operatives.
(13) State the fwo functions of B.D.O.
P.T.O.



(1)
(2)
(3)
(4)

Answer the following questions in 50 words each (any fwo) : [10]

~ State the functions of Consumer Co-operative Society.

Explain the role of V.D.O. in rural development programme.
State the advantages of Poultry Farms.
Evaluate the role of SBI in supporting Co-operative

Institutions.

Answer the following questions in 150 words each (any fwo) : [20]

Describe the benefits/advantages of Marketing Co-operative

. Society.

3.
(1)
(2)
(3)
(4)
4,

J'

(1)

(2)
(3)

(4)
[3769]-307

Explain the role of Primary Credit Co-operative Societies in
rural development.

State the social responsibilities of Co-operatives towards share-
holders.

State the importance of Women Education in Rural Development

Programme.

Answer the following questions in 800 words each (any two) : [30]

Describe the working of Dairy Farms in rural development

programme.

Explain in detail the benefits/advantages of Sugar Co-operatives.

Define Prﬂchsing'Cn-operative Society. Explain in detail the

advantages of Processing Cu-operativel Societies.

Explain in detail the objectives and functions of NABARD.
2
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(1)
(2)
(3)
(4)

(1)
(2)
(3)

(4)

[3769]-307

oo Heail WY @W/EEes R %

gt fomE Wafie 99 WeHHl Rl yfisr TR W
YU Gedl UgHhl WS WEifee  Sereesar g,
Ty o FEwEW T FHuE emee e Wi

TET WAET S UEd 300 Tew feml (SR 9e) [30]

g fae wEEAdle 2ol (rH) SEnmEl wEiRl w6
el HiE SEne e/ ETe gfa e W

i Wesrt WEET SEn Ui, WhRdr Ueenl wRArd @/
qiekdt T &,

qered (NABARD) Se31 anfor &4 wfas &= .



Total No. of Questions—35] [Total No. of Printed Pages—4+2

[3769]-308
T.Y. B.Com. EXAMINATION, 2010
COST AND WOREKS ACCOUNTING
| Paper Il
(Overheads and Methods of Costing)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B, —

1o (A)

(i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(1i1) Use of caleulator is allowed.

State whether the following statements are True or False (any
five) : [5]

(1) Cost of indirect materials is apportioned to various

departments.
(2) Credit and collection cost is an item of office overhead.
(3) Service Departments do not render services to each other.
(4) Work certified is shown in Contract Account at cost.

(6) There is difference between notional profit and estimated
profit.

(6) Operating cost statement is prepared to calculate the

cost in case of service costing.

P.T.O.



L

(B) Fill in the blanks (any five) : v [B]

(1) When absorbed nveri‘teads are Rs. 7,000 and actual overheads
are Rs. 10,000, there iS............o.... absorption of Rs. 3,000.

(2) i of overheads is the process of charging
the full amount of overheads to a particular cost
centre.

(3) sereneneeeen-OVErheads per unit does not remain fixed.

(4) Where the actual loss in a process is less than the anticipated
loss, the difference between the two is considered to
D8 e et :

(5) cereneeeemcONtract provides for payment of actual cost
plus a stipulated profit.

(6) Given the cost of production of a job Rs. 10,000 and
profit percentage 20% on sales, the profit would be
R s .

2. Write short notes on : [15]

(i)  Selling and Distribution overheads

(iz) Machine Hour Rate

(ii) Capacity Cost.

[3769]-308



3. What is Job Costing ? Explain its features. What are the basic

differences between Job Costing and Process Costing ?
Or |

Write short notes on (any three) :

(i). Value of .Wcrk Certified

(iz) Abnormal effectives in process costing

(iit) Escalation clause in Contract Goéting

(fv) Inter-process profit

(v) Features of Operating Costing.

[15]

4, A company has three production departments (A, B and C) and

two service departments (D and E). The following figures are extracted

from the books of the company :

Rent

Indirect wages _
f}epre-:iation
Lighting

Power

Others

- [3769]-308 3

[20]
Rs.
20,000
6,000
40,000
2,400
6,000

40,000

P.T.O.



Other particulars :

D

A B C E
Floor Space (sq. ft.) 4,000 | 5000 | 6,000 | 4,000 | 1,000
Light points 20 30 40 20 10
Direct wages (Rs.) 9,000 | 6,000| 9,000 | 9,000 | 7,000
H.P. of machines 75 30 35 10 —
Value of machinery (Rs). | 1,20,000 | 1,60,000 | 2,00,000 |10,000 |10,000
Working hours 3,113 2,014 2,033

The expenses of service departments D and E are to allocated as

follows :
A B C D E
D 20% 30% 40% — 10%
E 40% 20% 20% 20% —

You are requested to distribute the service department expenses

to the production departments under Simultaneous Equation Method

and calculate hourly rate of each production departments.

following information is available at 31st Dec. 20009,

X Ltd. is engaged in two contracts, A and B during the year. The

[20]

Date of Commencement

Contract Price

Materials delivered to site

Material issued from store

[3769]-308

1st April,

2009

6,00,000

1,20,000

- 40,000

1st Sept., 2009

5,00,000
50,000
10,000



. Material returned to store
Material on site 31st Dec. 2009
Direct labour payments
Direct expenses
Architect’s fees
Establishment charges
Plant installed at cost
Value of Plant on 381st Dec. 2009
Accrued wages 81st Dec. 2009
Accrued expenses 31st Dec. 2009
Cost of contract not certified

by architect
Value of contract certified by
architect

Cash received

4,000
22,000
1,40,000
60,000
2,000
25,000
80,000
65,000
10,000

6,000

23,000

4,20,000

8,78,000

2,000
8,000
35,000
30,000
1,000
7,000
70,000
64,000
7,000

5,000

10,000

1,35,000
1,265,000

During the period, materials amounting to Rs. 9,000 have been transferred

from contract A to contract B. You are required to show :

(@) Contract Alcs

(5) Contractee’s A/c and

(¢) Extract from Balance Sheet as on 31st Dec. 2009 showing the

calculation of WIP.

[3769]-308 5
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Or

The product of a company passes through three distinet processes

to completion. From the past experience it is ascertained that wastage

is incurred in each process as under :

Process A 3%, Process B 5% and Process C 8%. The wastage of

processes A was sold at 25 paise per unmit, that of B at 50 paise

per unit and that of C Re. 1.00 per unit. The following is .the

information regarding the product of Jan. 2010,

Process A | Process B | Process C
Materials (Rs.) 1,000 1,500 500
Direct labour (Rs.) 5,000 8,000 6,500
Direct Expenses (Rs.) 1,050 1,188 2,009
Actual output in units 9,500 9,100 8,100

10,000 units have been issued to Process A at a cost of Rs. 10,000.

There was no stock of work-in-progress in any process in the beginning
and at the end of Jan. 2010. Prepare Process Accounts, Abnormal

loss/gain Accounts.

[3769]-308




Total No. of Questions—5l [Total No. of Printed Pages—8+3

- [3769]1-309
T.Y. B.Com. EXAMINATION, 2010
BUSINESS STATISTICS
Paper II
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i) Figures to the right indicate full marks.

(1i1) Use of calculator and statistical tables is allowed:

1. (A) Attempt any four of the following : [2 each]
(@ If X ~ N (0, 12).
Calculate :
(i) P(-2 < X < 2)
(i) P(X > 3). _
(b) Explain the term “Economic Order Quantity”.
(¢) Define the following terms :
(i) Level of significance
(1i) Test statistics.
(d) Give a real life situation where a “sequencing problem”

arises.

P.T.O.



(B)

[3769]-309

(e) X and Y are independent random variables such that
X ~ N(3, 9) and Y ~ N(2, 10). Stﬂtcl the distribution of
3X - 2Y,

(fy Distinguish between Simple Random Sampling Without
Replaflzement (SRSWOR) and Simple Random Sample With
Replacement (SRSWR) methods of sampling. State any one
difference.

Attempt any two of the following :

(@) A random sample of 8 envelopes is taken from a courier
office and their weights are found to be 12.1, 11.9, 12.4,
12.3, 11.9, 12.5, 12.8, 12.1 in gms. Does this sample indicate
at 1% level of significance that the average weight of envelopes
received at that courier office is equal to 12.35 gms ? [6]

(6) The following results are obtained in a stratified sampling :

Stratum Size of Size of Observations
Number Stratum Sample in Sample
1 40 1 5, 10,12, 15
2 60 6 17,12, 20,22, 9, 8
3 100 9 10:5:13,15, 22,

28, 26, 18, 12



_ Estimate :

(z} Strata means

(iz) Population mean

(i) Population total. 6]
(¢) The mean yield for a one-acre plot is 662 kg with a s.d.

32 kg, Assuming normal distribution, how many one-acre

plots in a batch of 1000 plots would you expect to have

yield

() over 700 kg

(zi) below 650 kg. | [6]

2.  Attempt a;n:,r' two of the following :

()

(3769]-309

An aircraft company uses a certain part at a constant rate
of 2500 per year. Each unit costs Rs. 30 and the company
personnel estimate that it costs Rs. 130 to place an order,
and the carrying cost of inventory is 10 per cent per year.
How frequently, should orders be placed ? Also determine optimal
size of each order, total vﬁﬁable cost and optimum time between

two successive orders. [8]

3 | P.T.O.



(b) A company has four warehouses a, b, ¢, d. It is required
to deliver a product from these warehouses to three customers.

The warehouses have the following amounts in stock :

Warehouse  No. of Units
a 15
b 16
¢ 12
d 13

and the customer’s requirements are

Customer No. of Units

A 18
B 20
C 18

The table below shows the costs of transporting one unit from

warehouse to the customer.

Warehouse
a b c d
A 8 9 6 3
Customer B G 11 b 10
C 3 8 7 9

[37691-309 4



Obtain initial basic feasible solution using Vogel’s Approximation
" Method (VAM). [8]
(¢) Four new machines 'Ml, My, Mg and M, are to be installed
in a machine shop. There are five vacant places A, B, C,
D and E available. Because of limited space, machine My can-

. the

not be placed at C and Mg cannot be placed at A. CLJ,

assignment cost of machine i to place j in Rs. is shown

below :
A B C D E
M, 4 6 10 5 6
M, 7 4 — 5 4
Mg — 6 9 6 2
M, 9 3 7 2 3
Find the optimal assignment schedule. (8]

3. Attempt any fwo of the following :
(@) () Explain in brief the De facto method of conducting population

census. [4]

[3769]-309 5 P.T.O.



4 (iz) A manufacturer of light bulbs c¢laims that on an

average 2% of the bulbs manufactured by his firm are

defective. A random sample of 400 bulbs contained 13

defective, bulbs. On the basis of this sample, can you

support manufacturer’s claim at 5% level of significance ?

(4]

(6) (@) Obtain initial solution to the following transportation

problem by Matrix Minima Method (Least Cost

(4]

Method).
Transportation Cost (in Rs.)
Plants Distribution Centres Supply
A B (& D
| 2 3 11 T 6
IT 1 4 3 b 3
111 6 T 12 13 8
Requirement ¥ 5 3 2

[3769]-309




(i) A newspaper boy buys paper for Rs. 2.30 each and sells
them for Rs. 2.60 each. He cannot return unsold newspapers.
Daily demand has the following distribution.

No. of Customers Probability

23 - 0.01
24 0.03
25 0.06
26 0.10
27 0.20
28 095
29 0.15
30 0.10
a1 0.05
32 0.05

If each day’s demand is independent of the previous day’s,

how many papers should he order each day ? [4]

[3769]-309 7 B0



(¢) Two independent samples of eight and seven item respectively
 had the following values of the variables :

Sample 1 Sample II

9 10
11 12
13 10
11 14
15 9
9 8
12 - 10
14

Do the estimates of population variance differ significantly ?
(Use a = 0.10]. 8]
4. Attempt any fwo of the following :

{a)- (i) In a hypothetical population of size 5, the values of units
are 5, 7, 19, 21 and 22. Write Elln possible samples of
size 2 by the method of Simple Random Sampling Without
Replacement (SRSWOR) from this population and examine
whether the sample mean is an unbiased estimator of
population mean. (4]

(ii) State findings of 2001 census. (4]
[3769]-309 g



(b) (i) Obtain initial solution to the following problem by North-

West corner rule and test it for optimality. [4]

Per unit cost (in Rs.)

To
| I I . 11X IV | Supply
A 14 25 45 b 6
From B 65 25 36 55 8
C 35 3 65 15 16
Requirement 4 7 6 13 30

(ii) The following data is collected on two characters :

Cinegoers Non-Cinegoers
Literate 83 b
Illiterate 45 68

Based on this, can you concludé that there is no relation
between the habit of cinema going and literacy ?
(Use a = 0.05). | [4]
(¢) (1) Write a short note on ‘systematic sampling’, (4]

[3769]-309 9 L)
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(ii) A restaurant owner ranked his 17 waiters in terms of
their speed and efﬁci{:néy on th(, job. He correlated these
ranks with the total amount of tips each of these waiters
received for a one-week period. The obtained value of

correlation coefficient is 0.438. What do you conclude at

5% l.o.s. ? | [4]

5. Attempt any (wo of the following :

(a)

[3769]-309
|

Five jobs are performed, first on machine X and then on machine
Y. The time taken in hours by each job on each machine

is given below :

Job : A B C: D E
Time on Machine X 12 4 20 14 22
Time on Machine Y 6 14 16 18 10

Determine the optimum sequence of jobs that minimizes the
total elapsed time to complete the jobs. Also compute the
minimum time as well as idle time of both the machines. [6]

10



(&)

(c)
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A truck owner finds from his past records that the cost per

year of running a truck whose purchase price is Rs. 6,000

is as given below :

Year Running Cost Resale Value

6
7

At what age its replacement is due ?

(Rs.)
1,000
1,200
1,400
1,800
2,300
2,800

3,400

(Rs.)
3,000
1,500

750

Solve the following assignment problem. [6]
1 2 3 4
A 10 12 19 11
B o 10 7 8
C 12 14 13 11
t) 8 15 11 9
11
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T.Y. B.Com. EXAMINATION, 2010
BANKING AND FINANCE
Special Paper II
(Financial Markets ﬁnd Institutions)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any fen) : [20]
I{l} Define Money Market.
(2) What is Commercial Paper Market ?
(3) What is meant by Discount Houses 7
(4) Define Capital Market. '
(6) Define Stock Exchange.
(6) What is meant by Foreign Exchange‘ Market ?
(7) Define Non-Banking Finance Company.
(8) State the meaning of venture capital finance company.
(9) State any fwo objectives of National Housing Bank.
© (10) Give full form of LB.R.D.

(11) What is meant by Hire-Purchase Finance Company ?

P.T.O!



(12)

[3769]-310

State any two functions of EXIM Bank.

(13) When was World Bank established ?
2. Answer the following questions in 50 words each (any two) : [10]
(1) Write a note on Bill Market Scheme, 1952.
(2) Explain in brief the features of Indian Money Market.
(3) Explain the functions of Factoring Companies.
(4) Explain the objectives of Unit Trust of India.
3. Answer the following questions in 160 words each (any fwo) : [20]
(1) Explain the functions of capital market. 1
(2) Explain the structure of Foreign Exchange Market in India.
(3) Distinguish between non-banking finance companies and banks.
(4) Explain the objectives of World Bank.
4. Answer the following questions in 300 words each (any {wo) : [30]
(1) Explain in detail the sub-markets of Indian Money Market.
(2) Explain fully the objectives, functions and role of Securities
and Exchange Board of India (SEBI).
(3) Discuss the objectives, functions and progress of small Industries
Development Bank of India.
(4) . Explain the objectives, functions and role of International Monetary

Fund.



(S T

B : W\ W THUT T[T : 80

o — (i) WE WA @IS SR

2.

(i) =9dihele e qui T SFifad.
(iii) Wewierdl o TS WA wEl.

GPe WAE Yo 20 =W SW fem (Fone GEn) [20]
(1) SO STEE .

(2) mﬁwmﬁm?-

(3) =RE T WIS HE ?

(4) WisATASRIE PR .

(5) UQ FAERE SR @l

(6) Wy fafty swR =S ® @ ?

(7) wiehat foxita U=l =AmEAn =

(8) WRH wigae fou wudr=r &g W@

(9) T TR daeh Bodd g R wim.

(10) ILBRD. & gof %9 =

(1) sweEE favqgEa ol ®me $™ 2

(12) wRdg Frafa-omam S8t (EXIM Bank) #Umi® @9 FH W
(13) wrifas dSHE W G WS 2

e T TR 50 7= SR foa (FrRd ae) [10]
(1) . St A= 1952 F@L @ femn
(2) YRdE TAoEERET afTeY desd R S

3769)-310 3 P.T.0.



(3) 319 FoA=t FwE TR FHA
(4) 9 gfe e Sfged ww &

3. Tow@ WA WaH! 150 I S feR (Fvds g : [20]
(1) vieas SEREl 18 TR w
(2) YT WEE At aeRE S e w6
(3) Hawm fova s enfor dar Ao wE W &
(4) wmfae sodr SfER W S '

4, GO WAE TEFE 800 I=i s fEE (FvRd @) [30]
(1) YR AoesEe SYaeR gfaw TR . '
() wrdta ufaqdt onfor fafm He@sd (SEBD) sfesd, e @
YT T HT.
(3) ™ @Y e fare d@e (SIDBI) sfewe, & 9 Wt <=
hl. '
(4) Sawsd Amifei=h (LMF) Sk, ®@ & sfis o= Q.

(3769]-310 ' 4



Total No. of Questions—4]

[Total No. of Printed Pages—4
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T.Y. B.Com. EXAMINATION, 2010
BUSINESS ENTREPRENEURSHIP

Paper II

(Enterprise Creation and Venture Planning)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
(3)

(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

What is

‘Mahila Udyam Nidhi’ ?

State four sources of ‘Business Opportunity’ ?

State important factors for seclecting most suitable agency for
financial assistance for business.

. What is

What is
What is

What is

What is
What is
What is

“Term Loan’ ?
“I'urnaround strategy’ ?
‘Risk Management’ ?
Business Crisis’ ?

‘Seed caﬂita[’ ?
‘Critical Path Method’ ?

Human Resource Management ?

State four functions of ‘MITCON’,

Wh_at is
What is

subsidy for market study ?

‘Operations Management’ ?

BT
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Answer the following questions in 50 words each (any fwo) : [10]

(1)  What are the provisions in ‘Factory Act 1948 about employee
security ?

(2) State loan schemes available for women entrepreneurs.
(3)  What is Network Anaiysis 7

(4) What are the advantages of ‘Break-even Analysis’ ?

Answer the following questions in 150 words each (any two) : [20]

(1) What is ‘Business Crisis ? What steps should be taken to avoid
‘Business Crisis 7

(2)  What are the advantages and limitations of Programme Evaluation
Review Technique (PERT)

(3) State various schemes of ‘Government of Maharashtra for the
promotion of ‘Self-employment’.

(4)  Write detailed note on Prime Minister Rojagar Yojana (PMRY).

Answer the following questions in 300 words each (any two) :[30]

(1)  What is ‘Project Report’ ? Explain in detail contents in ‘Project
Report’.

(2) Narrate the success story of ‘Lijjat Papad’.

(3) Explain the role of the following institutes in entrepreneurship
development :

(@) Maharashtra Small Scale Industries Corporation (MSSIDC)
(b) Maharashtra Statn Financial Corporation (MSFC),

(4)  Critically evaluate the role of ‘District Industries Centre’ (DIC)
‘in Entrepreneurship Development.

13769]-311 2
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[3769]-312
T.Y. B.Com. EXAMINATION, 2010
MARKETING MANAGEMENT
Paper 11
(Modern Marketing ‘Management)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory,
(zz) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
()  What is the meaning of the term ‘Marketing Management’ ?
(z1) Define “Market Segmentation.”

(iii) State two limitations of Market Segmentation.
(tv) What is the meaning of ‘Social Responsibility’ ?
(v)  State two functions of Marketing Management,
(vi) What is regional imbalance ?

A(vir) State any two consumer organisations in India.
(viii) State the meaning of ‘Teleshopping’.

(ix) What is Ethics in Marketing ?

(x)  What is the meaning of ‘Customer Care’ ?

(xz) Define ‘International Marketing’.

(xit) What is ‘Consumer Retention’ ?

(xiii) Define the term ‘Consumer Protection’.

P.T.O.



2. Answer the following questions in 50 words each (any fwo) : [10]

(£)
(ic)

(zit)

(iv)

State any one theory of Buyer Behaviour.
What are the social responsibilities of Marketing Manager ?

State the difficulties related to Customer Relationship
Management.,

Explain the importance of International Marketing.

3.  Answer the following questions in 150 words each (any {wo) : [20]

(i)

(ii)

(ziL)

(tv)

Explain the responsibilities and functions of Marketing
Management,

Explain the basis of Market Segmentation.

What are the various challenges of Marketing Managers in
liberalised Indian economy 7

Explain the concept of consumer movement in India and state
its importance.

4. Answer the following questions in 300 words each (any two) : [30]

(2)
(2£)
(zit)

(iv)

[3769]-312

Explain the buyers’ buying process.
Describe the social ‘criticisms of marketing.

Define the term ‘Customer Relationship Management’ and explain

its importance.

Explain the following terms :
(@) Customer Service

(b) Customer Focus

(¢) Customer Delight.
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3. wWdT WA wOE 150 T I oW (FRE @) (20])
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[3769]-313
T.Y. B.Com. EXAMINATION, 2010
BUSINESS LAWS AND PRAC’];‘ICES
Paper II
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i) TFigures to the right indicate full marks.

Answer the Fﬂl]{awirlg questions in 20 words each (any ten) :[20]

(1)
(2)

(3)

(4)

Define the term ‘Factory’ under theﬂ Factories Act, 1948.
What is meant by ‘Employer’ under the Payment of Wages
Act, 1936 7

What is .meant by ‘Maximum Bonus’ under the Bonus
Act, 1965 ?

What is “Total Disablement’ under the Workmen’s Compensation
Act, 1923 7

Define ‘Trade Union’ under the Trade Union Act, 1926.
State the disqualifications of a factory inspector.

Define ‘Strike’ under the Industrial Disputes Aet, 1947,
Define ‘Worker’ as per Trade Union Act, 1926.

What is water pollution ?

) 2 0]



(10)
(11)

(12)

(13)

Define ‘Sewage Effluent’.
What is meant by TLay-off ?

Define ‘Air pollutant’ as per Air (Prevention and Control of
Pollution) Act, 1981.

State minimum two objectives of Environment Audit.

2.  Answer the following questions in 50 words each (any fwo) : [10]

(A)
(B)
(C)
(D)

Write a short note on disqualifications for payment of bonus.
Explain ‘Partial Disablement’.
What is Environment Audit ?

State the main objectives of Environment Protection Act, 1986.

3. Answer the following questions in 150 words each (any two) : [20]

(A)

(B)

(C)

(D)

[3769]-313

What is the General Fund of Trade Union ? Discuss the objects
for which the general fund can be used.

Distinguish between Retrenchment and Lay-off. Give legal
conditions of Retrenchment and Lay-off.

State the cﬂnsi;itution and functions of Central Board under
Water (Prevention and Control of Pollution) Act, 1974.
What environmental issues or factors should be considered
while framing the policy and implementation of industrial

development ?



4.  Answer the following questions in 300 words each (any fwo) :[30]

(A) Explain the provisions of the Factories Act, 1948 relating to
health of the workers in the factories.

(B) What do you mean by Air Pollution ? Explain the causes and
effects of air pollution.

(C) What is w;lges ? Enumerate the authorised deductions under
the Payment of Wages Act, 1936.

(D) What is environment degradation ? Briefly explain the causes

of environmental degradation in India.

(W& wHiw)
C R THUT TOT : 80
o — () wa A sfad  aed.
(ii) SVETRErS fF WA gul e aifed.
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(3) W wIEE, 1965 THN HAG A WU &R 7
(4) HFHEN AR HEE, 1923 = Tofd: TR swEmdd wus @E ?
(5) TR WS IS, 1926 A FHINN HHSTH wAWEAT W
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2.
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[3769]-314

T.Y. B.Com. EXAMINATION, 2010

AGRICULTURAL AND INDUSTRIAL ECONOMICS

Special Paper II
(Indian Agriculture and Industry)
(2004 PATTERN)

Time : Three Hours Maximum Marks : B0

N.B. :— (i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

(9)

(10)
(11)
(12)
(13)

What is primary sector ?
Define agricultural productivity.
What is Zamindari System 7

State two advantages of co-operative farming.

State fwo problems of indebtedness in rural sector.

What do you mean by bonded labour ?

Define public sector enterprises.

State fwo weaknesses of co-operative industrial sector in

India.

. State two causes of imbalanced regional industrial development.

State two problems of iron and steel industry in India.
What is social securit:.y ?

What do you mean by Industrial Relations ?

State two problems of unemployment in Industrial Sector.

BT0):



2. Answer the following questions in 50 words cach (any two) : [10]

(1)

[3769]-314

Explain the nature of imbalance in agricultural development
in India.

lExplain the problems of sub-division and fragmentation of land-
holdings. '

Explain the role of industry in economic development.

Explain the problems of small scale industries in India.

3. Answer the following questions in 150 words each (any fwo) : [20]

(1) Explain the progress of co-operative farming in India.

(2) State and explain the types of unemployment in agricultural
seclor.

(3) IExplain the problems of sugar indus'tr},r in India.

(4) Expls:in the measures adopted by the government to strengthen
the industrial relations.

4. Answer the following questions in 300 words each (any two) : [30]

(1)  Give a brief account of area under cultivation and irrigation
since 1951 in Indian economy. |

(2) Explain the causes of low productivity of Indian agriculture.
Suggest the measures to improve it.

(3) Explain the progress and problems of private sector in

I India. _ '
(4) What are the causes of industrial unemployment ? Explain

the measures adopted by the government to solve the problem

of unemployment.
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T.Y. B.Com. EXAMINATION, 2010

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper II
(Economic Aspects of Defence)

(2004 PATTERN)

Time : Three Hours s Maximum Marks : 80

N.B.

— (i) All questions are compulsory.

(zi) Tigures to the right indicate full marks.

Answer in 20 words each (any fen) : : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

Write the basic aim of Peace time economy.

Define “Economic Warfare”.

Write any fwo: contributory elements of war potential.
What do you mean by Defence Budget ?

In which year India-China war was fought ?

What do you mean by GDP ?

State the meaning of war potential.

Write the long form of DPSU.

What do you mean by Taxation ?

State the meaning of “Mobilisation of Resources”.
Define “War”.

‘Why is the “Blockade necessary during economic warfare ?
State any two methods of “War Finance”.

B0



2., Answer in 50 words each (any {wo) : [10]

(1) . Explain the concept of “Rationing”.
(2) Write in brief Natural resources as an element of War
potential. -
(3) Explain in brief structure of Defence Budget.
(4) Write in shorl concept of Development.
3. Answer in 150 words each (any fwo) : [20]
(1) Explain how the “Industrial Capacity” would be an element
' of war potential.
(2) How does the cost factor affect on modernisation programme
of the Armed Forces ?
(3) Analyse the causes of increasing India’s defence expenditure
since 1971.
(4) Write a note on “Defence Industries in India”.
4, Answer in 300 words each (any two) [30]
(1) Write an essay on “Economic Warfare”.
(2) Evaluate the role of Private Sector in defence production of
India.
(3) Highlight on the contrast between “Defence and Development”.
(4) Explain in detail the effects of war on society and economy

. [3769]-315
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of the country.
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[3769]-316
T.Y. B.Com. EXAMINATION, 2010 |
COMPUTER APPLICATION
Paper II
(Web Design And Applications)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

(fiii) Neat diagrams must be drawn wherever necessary.

11 (A) Attempt any two of the following : [16]
(i) Explain the formatting tags with proper S}'ntax..
(i) Explain the factors of web design with its pyramid.
(iii) What is Web Browser ? Explain Internet Browser in

detail.

(B) Attempt any one of the following : S [4]
(i) Write a short note on Java Secript.

(ii) Write a short note on Navigation.

P.T.O.



-

2. Attempt any five of the following : - (10]
(i) What is use of Search Engine 7
(ii) What do you mean by static site ?
(7ii) Write the full form of URL.
(iv) What is the use of <A> tag ?
(v) Wha;: is an exit page ?

(vi) What is a site index ?

3.. (A) Attempt any two of the following : | [16]
(i) Explain the different Web Technologies.
(7i) What is form ? Describe the form attributes.
(iii) Explain the steps to create frames with the help of Java
Scriﬁt,
(B) Attempt any one of the following : [4]
(i) Write a short note on Testing of Web Site.

(ii) Explain the Ordered list tags with syntax and examples.

4. Attempt any fwo of the following : [30]
(i) Explain the different organizational models used in designing

web  sites.

[3769]-316 ; 9
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(£d) Wﬁ;"rite HTML program to create the following table :

BIG Bazaar Bill

Sr.No.

Item No. | Item Desc. Rate Qty. Total

Total
Amount

(iz1) Explain the different site types.

(iv)

[3769]-316

Explain the web process model with suitable diagrams.
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13769]-317

T.Y. B.Com. EXAMINATION, 2010
INSURANCE, TRANSPORT AND TOURISM
Paper II
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(7i) TFigures to the right indicate full marks.

1. Answer any fen questions in about 20 words each : [20]
(1) What is the life insurance ?
(2) What is life insurance documents ?
(3) What is General Insurance ?
(4) State the nature of Fire Insurance. '
(6) State any fwo problems of Road Transport in India.
(6) State the role of agencies in Transport Industry.
(7) State the nature of Tourism in India.
(8) Why is knowledge of currency and exchange required in Tourism
Industry ?
(9) -State any fwo functions of Tourism Development Corporations.
(10) What is the impact of travelling routes on Tourism ?
(11) What do you mean b}r the terms of Life Insurance ?
(12) What are the advantages of Group Insurance ?
(13) State the kinds of losses and damages.
P.T.O.



2. Answer any fwo questions in about 50 words each : [10]
(1) IExplain the Life Insurance Products.
(2) Explain the claims and settlements.
(3) State the need of Training and Development of Staff in General
Insurance.

(4) How does the Government control the Transport Agencies ?

3. Answer any [wo questions in about 150 words each : [20]
(1) IExplain the formation process of Life Insurance Contract.
(2) [Explain the functions of LIC. '
(3) State the .importance of tourism in Indian Economy.

(4) Ixplain the nature, scope and role of Agencies in Tourism.

4. Answer any {wo questions in about 500 words each : [30]
(1) Explain the advantages of the Life Insurance.
(2) Explain the investment policy of General Insurance.
(3) . Explain the organizational structure of the Fire Insurance.
(4) Explain the travelling facilities available in the country to develop

the tourism.

(AE |Ui) :
qS : W WHT qUT : 80
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T.Y. B.Com. EXAMINATION, 2010
BUSINESS ADMINISTRATION

Paper III

(Production and Marketing Functions)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1)

Figures to the right indicate full marks.

1. Answer in 20 words each (any ifen) : [20]
(1) Define the term “Production Management”.
(2) State any four features of “Intermittent Production”.
(3) State any four advantages of “Diversification”.
(4) What is “Material Handling” ?
(5) What is “Store-keeping” ?
(6) What is “Quality Circles” ?
(7 What is “Follow-up” ?
(8) What is “Marketing” ?
(9) State any four functions of Packaging.
(10) What is “Market Segmentation” ?
(11) What is “Channel of Distribution” ?
(12) State any four advantages of Marketing Re:search.
(13) What is “Publicity” ?

P.T.O.



2. Answer in 50 words each (any two) : [10]

(1) State objects of Standardisation,

(2) ‘ﬁ’hat are the causes ‘of product quality variations ?

(3) Write a note on “Purchase Procedure”.

(4)  Write a note on “Time Study and Motion Study”,

3. Answer in 150 words each (any tfwo) : [20]

(1) Explain the functions of Store-keeping Department.

(2)  Explain the types of Marketing Organisation.

(8)  What is Pricing ? Explain various methods of pﬁuing,

(4)  Describe various methods of Sales Promotion.

4. Answer in 300 words each (any two) : (30]

(1)  Explain the role of Marketing Manager in big business
concern.

(2)  Explain various channels of distribution for Consumer Goods.
State the factors to be considered in the selection of Channels
of distribution.

(3) Explain various sources of data collection for Marketing
Research. State important branches of marketing research.

(4) (a) Write a note on “Future of Advertising”.

[3769]-318

(b) Write a note on “Modern Media’s of Advertising”.

2
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(2) ‘g2 IR (Intermittent Production) HIviE AR AR
.
(3) afaiwomR (Diversification) HRE WR w@2 |,
(4) “‘wrwt et (Material Handling) =ust &3 2
(5) ““Wuew' (Store-keeping) WUS wH ?
(6) ‘e adR!’ wus wm 2
(7) “wegEr"' (Follow-up) %S %1 ?
(8) “fawm" wuw wm 2
(9) “‘argeei@’ (Packaging) ®HIVHE WR #1@ oL _
(10) “‘"NrUs fauriteor’’ (Market Segmentation) IS HE ?
(1) “fawu we=" s @ ?
(12) fouom Wi wRd ww wER .
(13) “wiEgl"” wus @@ ?

2. TIFE B0 =i IR fow (FoRE @) [10]
(1) oo &g @
(2) oFg=A TUERT qEET JUEEt ERO S 7
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(3) “‘wEE wdusgd’’ gEn e fen
(4) “wyg g Td eram!! gk foo e

3. T 160 7=id e fom (FUeE /) : [20]
(1) e faurmeR EwE e S

(2)
(3)

(@)

fouoe ¥e=A" UHR TR AL
fama faufr (Pricing) =9 & ? fHma farersan foety ged@
HeL R

faagion fadty T v @

4. TOFE 800 IR IWd few (FoE @) o: [30]

(1)
(2)

(3)

(4)
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e =gy gemde faque  sTaeaysmET s s S
I8 qEqEd) aTRe s sty fae S ese . fam
grE@Et frae w@r G =Eae "esh 9.

5o WaeAEEl 9er et (Data Collection) fosia wif wse
Fu. fago GaiyEren fadia Er g,

(a1) enfeudR afaas’’. @E faa o

(@) sifere= emgfte med!’ wee fon feen



Total No. of Questions—4]

Time

N.B.

[Total No. of Printed Pages—4
[3769]-319
T.Y. B.Com. EXAMINATION, 2010 |
CO-OPERATION AND RURAL DEVELOPMENT
Paper III
(2004 PATTERN)

: Three Hours Maximum Marks : 80

:— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Answer the following questions in 20 words each (any ten) : [20]
(1)  Define the term ‘Co-operation’.

(iz). What is meant by credit-cooperative 7

(i) What is rural industrialisation ?

(fv) What is Government Subsidies ?

(v) Maharashtra Industrial Development Corporation (MIDC),
(vi) Define Public Sector.

(vit) Kokan Vikas Industrial Corporation (KVIC).

(viit) What is Small Scale Industries ?

(ix)

()
(xi)

(x2r)

Write any three principles of management for the success of
Co-operative Sector,

Write any three functions of State Cooperative Bank.
Define ‘Employment (Guarantee Scheme’.

State any three objectives of Primary Credit Cooperative

Society.

(xiiz) Khadi and Village Industries Commission.

P.T.0.



2. Answer the following questions in 50 words each (any two) : [10]
(¢) Write in briefl the pr;;.«;zan position of Urban Co-operative
Banks.
(L) Wﬁte a note on Co-operation and Planning.
(iit) Write a note on Rural Industrialization.

(iv) Explain the present position of Employment in India.

3 Answer the following questions in 150 words each (any two) : [20]
(1) Explain the need of Rural Industrialization.
(i) Suggest the measures to overcome the problems of rural-
employment.
(iii) Explain the impact of Globalization on Rural Development.

(iv) Explain the problems of Urban Co-operative Banks.

4. Answer the following questions in 300 words each (any two) : [30]
(i) Explain in detail the disadvantages of Globalization.
(i) Professionalization of Co-operative Management. Comment.
(iii) Define Rural Employment. Explain in detail the problems of
Rural Employment.
(iv) Explain the causes and importance of Decentralization of Rural

Industrialization.
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(W& wUl) |
9B : W AW - THUT TOT : 80
GO i— () WE UIT HERuE e
(ii) SvElhele e WA IO W SFIEE.

1. wee wWAaEl S Udwl 20 TN fes (FnE gmn) (20]
(1) ‘'wEeR' W WEl A 9.
(i) wEHRl UayEdr wWUS i 2
(i) T SRR WU R 7
o) TR e TR EE 2
(v) TERTE oiEnfTR famm WeniEs (MIDC)
(vi) TRER AT AREAT GO
(vii) hrwv-faem shefies #RES® (KVIC)
(viii) @Y BUS &E 7
(ix) TEHR &5 WA Svamel serddarEl @w de o
(x) UA-Wewr sl wumlel W forl
(xi) TSR B Al S Wi
(xii) WAHFH-T0 TeF™l T wivdel W@ 2en fomn
(xiii) @ enfor T eEe.

2. wWde YAl I uSW! 50 IEE fow (RIUGE @W) [10]
() ATRI-HEeRt St wesferd g femn
(1) ‘wEer sufr A’ AR wew fow fomn
(i) ‘vwtor SfEnfiRTy’ Aex ww fen e
(fv) YROHE U=mmEr a:fgd e &:9T0
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o WAE W w150 7=m fow (FRE @) [20]
()  wrior sfiEfiEpnE e T .

(i0) Y ISPREe §W HeRmEmEl (ST wAEE)  Sud gl
(i) T TSR SR UME S .

(jp) Al OgahTl deni=al O8] % .

@ele gy S TAS 800 I fow (FRE @) s [30]

(i) SITfdeEm de/E Wi TR EL

T 1t o e 1 2 R e R o A

(ii0) T YSTIET SEAT G AHO AS et S aeen
gfae wWwe &,

(iv) T SEifEETen fadRdEonEl FRO N Hed TR &

[3769]-319 4



. Total No. of Questions—&] [Total No. of Printed Pages—4+1

[3769]-320

T.Y. B.Com. EXAMINATION, 2010
COST AND WORKS ACCOUNTING
Paper III
(2004 PATTERN)

Time : Three Hours : Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(it) Figures to the right indicate full marks.
(iit) Use of calculator is allowed.
1. (A) Fill in the blanks (any five) : [5]
(1) If fixed cost is greater than contribution, the excess is
KNOWN A8 e sovaaes
(2) The summary of all........................15s known as Master Budget.
(3) Inter-firm comparison develops cost..........ccocorerrenns among the
participating units.
(4) When actual cost is more than standard cost, the variance
ishan.
(5) Cost audit work in India may be accomplished by.........ccoeresrreerns
(6) Cost audit is the verification of the.......................of cost
accounts.

PT.0.



(B)

State whether the following statements are True or False (any

(1)

(2)

(3)

(4)
(5)

(6)

five) : 5]
The large margin of safety indicates the soundness of
busin_ess.

The cash budget summarises anticipated cash receipts and
cash pa:.rménts for the budg:at period.

Inter-firm comparison is not beneficial to different firms
in the industry.

Material yield variance is a part of material price variance.
Cost audit enables shareholders to assess and evaluate
performance of their firm.

In India all manufacturing companies are covered under

Cost Audit.

2, Define uniform costing. What are its objectives ? What are the

requisites for installation of a uniform costing system. [15]

3. What is Cost Audit ? In what respects is Cost Audit different from

Cost Investigation ? [15]

Or

Write short notes on (any three) :

(@)~ Cost Audit (Report) Rules

_ [3769]-320
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(b) Rights of Cost Auditor
(¢)  Objects of Cost Accounting Standards
(d) Cost Audit Programme

(e) Cost Auditl Notes.

4., Two businesses ‘A’ Ltd. and ‘B’ Ltd. sell the same type of products,
in the same type of market. Their budgeted Profit and Loss Accounts

for the year ending 31/3/2009 are as follows :

Items ‘.e‘;t’ Ltd. | ‘B’ Ltd.
B Sales aF 3,00,000 | 3,00,000
Less : Variable Costs | 2,40,000 2,00,000
Fixed Cost 30,000 2,70,{}[;10 70,000 | 2,70,000
Net Budgeted profit éﬁ,ﬂﬂ[] _3{),0{}[1

You are required to :
(@) Calculate the P/V Ratio and Break-even Point of each business,
(b) State which business is likely to earn greater profits in
conditions of :
(L) Hea;ry demand for the product
fii) Low demand for the product. [20]
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Or

From the following data, prepare a cash budget for the month of

January to April 2010 : 20]
Year | Month Sales |Purchases | Wages| Administrative
(Rs.) (Rs.) (Rs.) [Expenses (Rs.)
2009 | November | 50,000 | 17,500 | 3,500 1,500
2009 December 55,000 22,500 4,000 2,000
92010 | January 60,000 | 30,000 4,500 2,500
92010 | February | 65000 | 82,500 4,500 3,000
2010 | March 70,000 | 35,000 5,000 3,500
2010 | April 75,000 | 37,500 5,000 4,000

Other Information :

(1) Dividend of Rs. 10,000 is payable in March 2010.

(2) Customers are allowed a credit period of two months.

(3) Creditors have allowed a credit period of two months.

(4) Wages and Administrative Expenses are paid on 1st day of
the next month.

(5) A machine has been purchased on 1st March 2010 and payments
are made in monthly instalment of Rs. "5,000 each.

(6) Balance of cash in hand on 1lst January, 2010 is Rs. 17,500.

[3769]-320 4



B2 The standard mix of Product A2 is as follows : [20]

Kgs Material Price per kg (Rs.)
45 X 6=00
2 - Y - 4=50
30 | Z 9=50

The standard loss in production is 10% of input. There is no scrap

value. Actual production for a month was 7,425 kgs of A2. Actual

purchases and usage of material during the month were :

Kgs Material Price per kg (Rs.)
4,200 X 6=50
1,700 Y 4=25
2,600 Z 9=75
Calculate :
(1) Material Cost Variance
(2) Material Price Variance
(3) Material Usage Variance

(4)
(5)

[3769]-320

Material Mix Variance

Material Yield Variance



Total No. of Questions—5] [Total No. of Printed Pages—8+1

[3769]-321
T.Y. B.Com. EXAMINATION, 2010
BUSINESS STATISTICS
. Paper IIT
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions,

(i) Figures to the right indicate full marks.
(iii) Use of calculator and statistical table is allowed.
1. (A) Attempt any four of the following : [2 eachl]
(@) Explain the concept of quality with an illustration.
(b) Determine whether there exists a saddle point in the following

two person zero sum game

Player B

8 =
Pl A
ayer 8 |

4

(¢) State any four elements of the queuing system.
(d) State whether each of the statement given below is true
or false :
(i) The distribution of arrival rate follows Normal distribution
in queuing theury.
(ii) PERT is a probabilistic method.

P T.0.
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1

(B)

[3769]-321

(e)
(f)

Explain the importance of interpolation.

Comment on ‘100% inspection’.

Attempt any two of the following :

() A bank has one computer operator for typing letters. Her

()

service rate is 8 letters per hour. The letters arrive at
her table at rate of 5 per hour during 8 hours working
day. If the cost of idle computer operator is estimated
as Rs. 50 per hour, find :

() Probability that equipment unutilization.

(i) Average waiting time of her letter in system.

(iii) Cost per day due to idle computer operator. [6]
Give the following pay-off matrix :
Strategies States
Dy Dy D4 Dy
54 4 0 -5 3
So =2 6 9 1
Sg 7 3 2 4
Determine the optimal strategy under :°
(i) Maximax
(2{) Maximin
(iit) Laplace criteria
(iv) Hurwicz criteria with coefficient of optimality 0.6. [6]

2



(e) Solve the game with the following pay-off matrix by using
the principle of dominance : [6]

Player B’s Strategy

1 2 3 4 5
I 1 3 2 q d—"-'
Player A’s 11 3° 4 1 5 6
Strategy I1I 6 5] 7 6 5
IV 2 0 6 3 L

2. Attempl any fwo of the following :
(@) Ten samples each of size 5 are drawn at regular intervals
from a manufacturing process. The sample means (¥) and
their range (R) are given below :

Sample No. Mean (¥) Range (R)

1 49 7
2 45 5
3 48 7
4 53 9
5 39 5
6 47 8
7 46 8
8 39 6
9 51 7
10 45 6
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. Construct control charts for mean and range. Also comment

(®)

(c)

on whether the process seems to be under control. (n = 5,

A.z - {]5?7, D3 = [}, D'4 = 2.115}. [8]
(i) Write a short note on ‘Decision tree’. (4]
(i) Explain briefly the concept of ISO. [4]

The following data gives the life-times of four brands of tubes :
A 21 iQ 20
Brand B 23 21 25
C 22 24 20
D 20 20 23
Prepare an analysis of variance table for the above one-way
design and test_ the significance of difference between the life-

times of four brands. (Use 5% lo.s.) [8]

3. Attempt any fwo of the following :

(ct)

[3769]-321

(I) Interpolate the mjssiﬁg figure in the following data by using

Binomial Expansion Method : (4] .
x y
5 30
10 32
15 ?
20 38
25 40
4



(b)

[3769]-321

(II) The following are the number of defects in an

Sample No. No. of ﬂefects

1 5
2 6
3 8
4 6
5 3]
6 6
7 9
8 9
9 8
10 | i

item observed -

Draw appropriate control chart and state your conclusion. [4]

(I) For single sampling plan with N = 1200, n = 64 and

¢ = 1. Compute the AOQ given that p = 0.05, [4]

(IT) Explain the following terms :

(1) Producer’s risk

(zi) Consumer’s risk.

[4]

BT



(¢) From the following data, interpolate the value of y, when

x = 45 by using Newton’s forward interpolation formula : [8]

x y

20 10
30 14
40 22
50 28
60 32

4, Attempt any {wo of the following :
(@) A project is composed of 12 activities. The following table shows

the activities along with their time relation :

Activity Time
1-2 3
1-3 5
1-4 2
35 7
3-7 4
2-5 9
5-9 12
46 8
6-17 6
68 11
8-9 10
7-9 8
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(b)

(e)

[3769]-321

() Compute earliest event time and latest event time.
(1) Find the critical path and total projection duration.
(¢i) Calculate total, free and independent: float for each activity. [8]
(I) Explain the following terms in Decision Theory ;

(Z) Oppnrtunity loss

(if) Decision under risk. - [4]
(II) For single sampling plan with N = 2000, n = 80, ¢ = 1,

p = 0.05, calculate the minimum average total inspection

(ATI). ' [4]
A project consists of 9 activities whose time estimates are

given below

Activity Time Estimates (Weeks)
t, £ i
1-2 3 15 6
1-6 2 14 5
2-3 6 30 12
2 2 8 5
3-5 5] 17 11
4-5 3 16 6
6-7 3 27 9
-8 4 28 19
o8 1 7 4
7 PT!0.



(i) Determine expected time estimates for all activities.
(ii) Determine the critical path and hence expected project
completion time.
(zii) What Iis the probability that the project will be completed
within 41 weeks 7 18]
5. Attempt any fwo of the following :
(@) Onions are produced at the cost of Rs. 5 per kg and sold
at Rs. 10 per kg. There is no resale value for unsold onions.

The weekly sales records in the past are as follows :

Demand/week No. of weeks each Sales

level was recorded
30 2
40 2
50 3
2
TS 1

Calculate EMV and find best strategy. Also calculate EVPI, [6]

[3769]-321 8



(&)  Fill'in the blanks

Source of

Variation

Errorsg

Total .

Test the hmnogeneity of rows and columns, (Use 5% lo.s.) [6]
(¢)  Explain the following termsg :

B 1S

(22) Two-person ZETO-sUM game

(iii) Assignable causes. [6]

[3769]-321 9



~ Total No. of Questions—A4]

[Total No. of Printed Pages—4
[3769]1-322

T.Y. B.Com. EXAMINATION, 2010
BANKING AND FINANCE
| Special Paper III
(Banking Law and Practice in India)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. — (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1)

(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)

(11)
(12)
(13)

Spell out the paid-up capital and reserve requirement for a
banking company incorporated outside India.

Who is a ‘holder’ of a negotiable instrument ?

Define negotiation as per the Negotiable Instruments Act, 1881.
What is Cash Reserve Ratio ?

What are demand and time liabilities ?

Who is a Paying banker ?

Spell out the difference between General and Banker’s Lien.
What is ‘Right of Set-off ?

Who can be a customer to a bank ?

What do you understand by Banker’s nbhgatmn of secrecy of
accounts ?

What do you understand by a Fixed Deposit Receipt ?
What is English mortgage ?
What does ‘SARFAESIA’ stand for ?

PTO.



2. Answer the following questions in 50 words each (any two) : [10]

(1)

(2)
(3)

(4)

Spell out the provision of the Banking Regulation Act, 1949 relating
to ‘Maintenance of Liquid Assets’. '

Spell out the features of a Promissory Note.

Explain the “Trustee-Beneficiary’ relationship between banker and
customer.

Define ‘Securitisation’ as defined under the Securitisation Act.

3. Answer the following questions in 150 words each (any fwo) :[20]

(1)
@

(3)

(4)

Spell out in detail the parties to Negotiable Instruments.

What are the conditions under which a banker could refuse
payment of his customers’ cheques ?

Explain in detail precautions a banker needs to take while advancing
against supply bills.

Explain in detail the economic and technical aspects of project
appraisal.

4, Answer the following questions in 300 words each (any fwo) :[30]

(1)

(2)

(3)

(4)

[3769]-322
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Explain in detail the powers of the Reserve Bank of India as
laid down under the Banking Regulation Act, 1949.

Who is a collecting banker ? What precautions should a collecting
banker take while collecting his customers’ cheques ?

What is a secured loan ? Explain in detail the precautions a
banker must take while advancing loans against real estate.

Explain in detail Debt Recovery Tribunals, Lok Adalat and Recovery
Camps as measures of recovery of loans.
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(1)

(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)

(11)
(12)

(13)
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9. W@ YE Ul 50 V=i Sl Tod (FVmE 8M) s 10}

(1)
(2)
(3)
(4)

o eI Gevidie afRT I wEEl 1949 g TR
det effor el ues AMdie favas sifun enfusrl a9y T &,
TR FFemEie v’ areEl Sl &

3. wele YAE Ydd 150 Vs I foR (Fved d@m) [20]

(1)
(2)

. (3)

(4)

JoIaq SRS 9y giew g %

ST i AT Suedn UEhre YR T SR FuE A
b ? ,

WEA sierAr GRAladet &Sl Sar s IOl shidsl HOl HEYES
e o TR HL

U] HEOHIA SfUE 9 difAe i TR w9

4. TG YEIHE Yoawl 300 V=G SW R (FHUEd §F) (30]

(1)
(2)

(3)

(4)
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Total No. of Questions—4] [Total No. of Printed Pages—4

Time

[3769]-323

T.Y. B.Com. EXAMINATION, 2010
BUSINESS ENTREPRENEURSHIP
Paper III

(Organisational Behaviour and Entreprencurship

Development)
(2004 Pattern)

: Three Hours L  Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer in 20 words each (any ten) : [20]
(1) Define the term ‘Personality’.
(2) Define the term ‘Leadership’.

(3) Define the term ‘Organisational Behaviour’.

"4 Explain the term ‘Conflict’.

(5) Explain the term ‘Stress’.

(6) Explain the term ‘Mntivatiﬂnl’.
(7)  What is ‘Change’ ? |

(8) What is ‘Team Spirit’ ?

(9) WhaL 18 ‘Functional Group” ?

(10) State the meaning of Formal Group.

BT



(11) State the meaning of ‘Job Enrichment’.

(12) State the meaning of ‘Emotional Intelligence’.

(13) Define the term ‘Authority’.

2.  Answer in 50 words each (any two) : [10]
(1)  Explain the term ‘Resistance to Change’.
(2) State the importance of motivation.
(3) Explain the term ‘Job-Rotation’.

(4) Explain the ‘Managerial Grid Theory’.

3. Answer in 150 words each (any two) : [20]
(1) Explain the reasons of resistance to organisational change.
(2)  Explain the features and importance of informal group.

(8)  Explain the concept and benefits of ereating high performance

team.

(4) State the importance of Employee Recognition Programme.

4. Answer in 300 words each (any f{wo) : [30]
(1)  Explain in detail contingency theory of leadership.
(2) Explain the importance and benefits of job enrichment.
(3}  Define the term ‘learning’. Explain the principles of learning.
(4) Explain the importance and advantages of Management by

Objectives.
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(3) ‘wEwee’ @ 9 SR Fw

(4) FFAOE e fogia TR F
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(2) wFHEgEE "ed A wES TR H
(3) ‘HwEE wREl sAredl AL SEEAE de e
(4) SfespR SrEETEY "eE S FEe TR 6
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[3769]-324
T.Y. B.Com. EXAMINATION, 2010
MARKETING MANAGEMENT
| Paper III
(Advertising)
(2004 PATTERN)
: Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
Answer in 20 words each (any ten) : ' [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)

(13)

Explain the meaning of Advertising.

What is Direct Advertising ?

State the two functions of Advertising.

What is Deceptive Advertisting ?

State the four media of Indirect Advertising.
What is Pamphlets ?

What is Background ?

What is Appeal in Advertising ?

Define ‘Image Building’.

What is Advertising Strategy ?

What is Illustration ?

Define ‘Personal Advertising’,

State the four advantages of Internet.

P.T.O.



2. Answer in 50 words each (any fwo) : [10]
(1) What are the functions of Advertising ?
(2) Write a short note on Modern Marketing.
(3) Explain the features of Indirect Advertising.
(4) Write a short note on Rural Advertising.

3. Answer in 150 words each (any two) : [20]
(1) Explain the advantages and limitations of Advertising Business.
(2) State the types of Advertisement in non:business areas.
(3) Explain the selection of advertising as a career.

(4) Explain the essential factors for appeal in Advertising.

4,  Answer in 300 words each (any two) : [30]
(1) Explain the methods of advertising in market place.
(2) Explain the various types of appeals in advertising.
(3)  Explain in detail perceptual mapping and audience perception.

(4) Explain the functions of Advertising Layout.

(e waian)
W@ : f W™ THOT T : 80
o — () w WA diefal s R
(ii) Idwels e o U EFifadm.
(zii) HewigrEl Hos st yyEufie geEE.
1. @i Y9l 9dal 20 Visid W foer (Fivad 9@ [20]

(1) wfeweren w4 G
(2) wIY et =S 1 ?
[3769]-324 2



(3) wifetet= &= =18 =i,
(4) HEEl Afedd wWUE w2
(5) ey Sifgudi=l ent Wim H=Em
(6) HifgdIgash WUl &HE 2
(1) el S wE 2

(8) wifeud erEEd wuE S ?
(9) ‘wfgmfadidt'=f =aren =
(10) <nfeld SEU= =USl H1d 7
(11) Fa==n Iy =us &I ?
(12) <HadiTd Sfedei=l =ame .
(13) 3= AR HER GO

2.  @ie gl Wl 50 v IW faw (FoeE dF) [10]
(1) nfetee=r wrE .
(2) aﬂgﬁfﬁquﬁﬁwﬁqm.
(3) amueder wfewi=t dfiTes T &
(4) amor Sfeudier U ditma fou fern.

3. w@dl| yYAEl udwl 150 = W fow (Fond @) [20]
(1) wifed =HaaEE FEe-dare TR &
(2) fOR-FaUE S STedd Wehr HE.
(3) &K WUH STedd &oel a8 e &
(4}_Gﬁﬁﬂ?ﬁ?ﬁﬁmﬁmﬁ%ﬁﬂwaﬁ?mm.
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4. WEE FEAE TES 300 V=E SN fow (PR g9 [30]
(1) wemus=n T oo Sifstn=0 Tgd % 9.
(2) “ifeUeidlal AR fafay ywR o= @,
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T.Y. B.Com. EXAMINATION, 2010
HUS_INESS LAWS AND PRACTICES
: Paper Il
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(if) PFigures to the right indicate full marks.

(iit) Use of calculator is allowed.

1 (A)  What are the essential features of the CENVAT Credit Scheme

in relation to capital goods ? [7]
(B)  Write a note on : ‘Daily Stock Account’. (71
Or

Explain the meaning of the following terms with r-'eft:t'um:u to F;m:L'mn
4 of the Central Excise Act, 1944 : [14]
(A) Assessee

(B) Related Person

(C) Place of Removal

(1D)- Transaction Value.

PO,



I'rom the information given below, ascertain the assessable value
and amount ol excise duty payable under Section 4 of the Central
Excise Act, 1944 [14]

Rs.
fﬁfmt.rzmi:cd sale ‘price for delivery at buyer’s premises - 9,00,000

The contracted sales price includes the following clements

of cost :
(1) Cost of drawings and designs 4,000
(2) Cost of primary packing 3,000

(3)  Cost of packing at buyer’s request for safety during

transport ' 7,000
(4)  Excise duty . 1,11,200
(5) VAT (Sales tax) | 37,000
(6)  Octrom ' 9,500

(7)  Freight and insurance charges paid from factory
to place of removal 20,000
(8)  Actual freight and insurance from place of removal

to buyer’s premises 42,300

- The rate of excise duty is 14% plus education cesses as applicable.

(Give reasons with suitable assumptions where necessary.

Or
Compute the ‘assessable value’ for each of the following transaction
for the purpose of charging excise duty : [14]
(1) XY & Co. have sold goods manufactured by them at a transaction

.value of Rs. 15,400. For home delivery of the said goods, the

[3769]-325 2



(1)

(I1T)

(IV)

(V)

137691-325

XY & Co. have charged Rs. 1,000 additionally, but the actual
cost of transport from factory XY & Co. to the place of delivery
was Rs. 600. The XY & Co. do not follow average equalized
freight system.

MK & Co. have charged Rs. 15,000 per unit from their customer
for sale of 10 units. The goods were manufactured by MK
& Co. out of the raw materials supplied by the customer for
such manufacture. The raw material was purchased by customer
for Rs. 50,000,

PQ & Co. have sold 50 units manufactured by them for
Rs. 20,000 per unit. They had received interest-free advanr;e
of Rs, 5,00,000 from the buyer for the whole of the year.
PQ & Co. have sold such units for Rs. 21,000 per unit to
buyers from whom no such advance was received.

R & Co. gave away 5 units of goods manufactured by them
as free samples on 25-12-2009. On the same day, R & Co.

sold such units at a transaction value of Rs. 10,000 per unit.

~ The cost of production of the goods is Rs. 8,000 per unit.

The goods manufactured by AB & Co. have been used for
the purpose of further manufacture of some other goods. The

cost of production of goods so used captively is Rs. 1,00,000.
' 3 P.T.0.



3.

(A)  Define the following terms with reference to the Customs Act,
1962 - 4]
(I} Coastal Goaods
(II) Smuggling.

(B)  Write shorl notes on : [8]
(1) Import Manifest/Report
(II) Shipping Bill/Bill of Export.

Or
Write a note on ; “Valuation of export goods”, [12]
(A} Explain the salient features of levy of service tax. (8]
Or

State the provisions of Section 70 of the Finance Act, 1994

and Rules made their under, regarlciing “filing of returns”.

(B) Explain the terms ‘Inter-state Sale’ and ‘Intra-state Sale’, [4]
Or

Define the term ‘goods’ as per CST Act, State any fwo examples

which are not goods.
“Value Added Tax (VAT) system removes the cascading effect of
taxes.” Explain, | ¢ B [12]
Or
(A)  Write a note on ‘Rates of VAT under the Maharashtra VAT
Act, 2002, 6]
(B)  What is VAT Invoice’ ? State its contents. (6]
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6. (A)

(B)

[37691-325

Mr. X reported inter-state sales turnover ol Rs. 36,20,000. This
imcludes the following :

(i) IEX(!iHl‘. duty Rs. 3,00,000 and

(i) Deposit for returnable containers and packages Rs. 5,00,000.
Sales tax was not included separately in the. sales invoice.
Compute tax liability under the CST Aect, assuming the rate
of tax @ 2%. |4]

Or

Inter-State sale of Bhosale Brothers, Pune, was Rs. 6 lakhs
during June 2008-March 2009 of his product X’. The sales are
inclusive of sales tax charged in Invoice al appropriate rales.
The goods are liable to tax @ 4% if sold within State of
Maharashtra. .Out of the goods sold, goods of Rs. 50,000 were

returned. These were sold by Bhosale Brothers in February

2009 and returned by the buyer in May 2009 as they were

excess of his requirements. Some goods of Rs. 30,000, despatched
in December 2008 were rejected by buyer and sent back in
November 2009. Find the ‘taxable turnover’ if ‘C' form was
received from all buyers. J [4]
Mr. X, a manufacturer sells goods to Mr. B, a distributor
for Rs. 2,00,000. Mr. B sells goods to Mr. C, a wholesale
dealer for Rs. 2,/1(},{}[}{}._Thu wholesale dealer sells the goods

to a retailer for Rs. 3,00,000, who ultimately sells to the consumers

for Rs. 4,00,000.

5 P.T.O.



All the sales are within the State of Maharashtra. The selling
prices are excluding of VAT. If VAT rate on all purchases
and sale is 12.5%; compute input tax credit available to and
nel tax payable by the manufacturer, distributor, wholesale dealer
and retailer under the Maharashtra VAT Act, 2002. [12]
Or
(B) (I) Compute the VAT payable by Mr. Ashok who purchased
goods from a manufacturer on payment of Rs. 2,25,000
(including VAT which was shown separat.nly in the invoice)
and carn 10% profit by selling it to a retailer. VAT rate
on purchase and sale is 12.5%. | (6]
(I1) Purchases by Rohan & Co. for the month of December
arc as follows :
(@) Rs. 1,00,000 @ 4% VAT
(b) Rs. 5,00,000 @ 12.5% VAT
Sales of Rohan & Co. for the month of December are
as follows :
(@) Rs. 3,00,000 @ 4% VAT
(b) Rs. 3,00,000 @ 12.5% VAT
Compute cligible input tax credit and VAT payable for

the month. [6]
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(3)  AEdehl T TRATE BRI fardaE o

GievimkeE | 7,000
(4)  SEAETEIEH 1,11,200
(5) HeEdd w (T F0 37,000
(G)  SiehId 9,500
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T.Y. B.Com. EXAMINATION, 2010

AGRICULTURAL AND INDUSTRIAL ECONOMICS

Special Paper III
(Indian Agriculture and Industry)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(iz) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(1) State two drawbacks of non-institutional sources of agricultural
finance.
(2) What is indigenous bankers ?
(3) Define co-operative marketing. I
(4) State two causes of fluctuations in agricultural produce prices.
(5) State fwo linkages in agricultural and rural development.
(6) Give the f'ulllfurm of SFDA.,
(7)  Give the full form of ICICIL
(8) What is industrial policy ?
(9) State two causes of concentration of economic powers.
(10) What is MRTP Act ?
(11) State tw-n objectives of public sector enterprises.

1 54 L0 X
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(12) What is autonomy of public sector enterprises 7

(13) Give two arguments against the privatisation of public sector

enterprises.

Answer the following questions in 50 words each (any fwo) : [10]

(1)
(2)
(3)
(4)

Explain the role of commercial banks in agricultural finance.
Give brief structure of co-operative marketing in Maharashtra.
State the problems of Industrial Finance in India.

State the objectives of Regulation of Industries Act, 1951.

Answer the following questions in 150 words each (any fwo) :[20]

(1)

(2)
(3)
(4)

Explain the measures adopted by government to stabilize the
agricultural produce prices.

Explain the role of IRDP in rural development.
Explain the nature of concentration of economic power in India.

Explain the causes of growth of public sector in India.

Answer the following questions in 300 words each (any two) :[30]

(1)
(2)
(3)

(4)

Critically examine the role of NABARD in agricultural finance.
Review the agricultural price policy since 1991.
Explain the broad features of new industrial policy of 1991.

Explain the arguments for and against privatisatiﬁn public sector

enterprises.
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Total No. of Questions—4]

Time : Three Hours

[Total No. of Printed Pages—4
[3769]-327

T.Y. B.Com. EXAMINATION, 2010

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper I1II
(Financial Management in Defence)
(2004 PATTERN)

Maximum Marks : 80

NB. — (i) All quest‘iﬂﬁs are compulsory.

(z1) Figures to the right indicate marks.

Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7
(8)
(9)
(10)

(11)

State the meaning of Keynesian Economics.
Write any two objectives of Management Accounting.
Define Budget.

State the meaning of Managerial Economics.
Write the meaning of Performance Budget.
Define ‘Threat Perception’.

What is the period of ‘Financial Year’ in India ?
Define Deficit Finance.

Stafe the meaning of Strategic Planning..

Write any two features of “Zero Base Budget'
What do you mean by ‘Macro-economics’ ?

P.T0:
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(12) State any fwo limitations of estimates in the Armed Forces.

(13) Write any two functions of Defence Accounts Department.

Answer the following questions in 50 words each (any two) : [10]

(1)
(2)
(3)
(4)

Discuss the disadvantages of Free Market Feconomy’.
Describe the structure of the Ministry of Finance.
Explain the functions of Financial Planning.

Discuss the ‘Effects of War on Economy’.

Answer the following questions in 150 words each (any two) : [20]

(1)
(2)
(3)
(4)

How does Indian Parliament control over Defence Budget ? Explain.
Describe the structure of Defence Budget in India.
Highlight on limitations and challenges to Defence Management.

Discuss the functions of Auditor General in the Defence Budget.

Answer the following questions in 300 words each (any two) : [30]

(1)

(2)

(3)

(4)

Discuss the process of Financial Administration of the Armed
Forces.

Explain, how the war is more influenced by the science of economies,
rather than the art of ‘tactics’.

Discuss the role of Defence Accounts Department in the Financial
Administration in Defence Services.

Define War Finance. What are the sources of war finance ?

~ Explain.
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Total No. of Questions—4] [Total No. of Printed Pages—2
 [8769]-328
T.Y. B.Com. EXAMINATION, 2010
COMPUTER APPLICATION
| Paper III
(System Analysis, Software Engineering and MIS)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
()" Higures ' fo the right ndicste’ fill marke

(iz1) Neat diagrams must be drawn wherever necessary.

1. (A) Attempt any fwo of the following : [16]
() %at is system ? Explain the characteristics of system.
(iz) Explain in detail the role and characteristics of MIS.
(i) What is meﬁnt by System Analyst ? Explain the role
and duties of System Analyst.
(B) Attempt any one of the following : [4]
(i) Explain input design.

(ii) Explain the symbols used in flow charts.

Lo

Attempt any five of the following : [10]
(i) Define MIS.
(ii) What do you mean by Operational Feasibility ?

P.T.O.
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(tit) What do you mean Pseudo-code 7
- (v) Define Decision support systems.
(v) What is an attribute ?
(vi) What do you mean by Logical DFD ?
3. (A) Attempt any {wo of the following : . [16]
() Write a note on spiral model with the help of diagram.
(ii) .Explain the different software qualities.
(¢7ii) Explain Structured. Analysis and Design Technique (SADT)
and Object Oriented Analysis (OOA) in detail.
(B). Attempt any oneof the following’ - (4]
(¢) Write a short note on System Development Life Cycle,
(i) Write a short note on Data Dictionary,
4. Attempt any two of the following : [30]
(i) Explain in detail the Production Information Systems.
(zt) What are the fact finding techniques ? Explain each in detail.
(z7z) Explain the Financial Information System in detail.
(tv) What is a decision tree ? What are the components of a decision

table ? Explain it with a suitable case study.
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T.Y. B.Com. EXAMINATION, 2010

INSURANCE, TRANSPORT AND TOURISM

Time : Three

N.B.

Paper III
(2004 PATTERN)

Hours ' Maximum Marks : 80

— (i)  All questions are compulsory.
(z2)  Figures to the right indicate full marks.
Answer any ten questions in about IZU words each : [20]
(1) State any two organizational problems of LIC.
(2) State the need of LIC.
(3) What do you mean by Government Securities ?
(4) What do you mean by LIC Investment Policy ?
(6) What is TAAI ?
(6) What is Water Transport ?
(7)  What is Tour Operators ?
(8) What is Passport ?
(9) What do you mean by maraine insurance claim ?
(10) What is Visa ?
(11) What is cattle insurance ?
(12) State any two effects of Privatization of Air Transport.
(13) What is AIR Transport ?
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2.  Answer any fwo questions in about 50 words each : [10]

(1) ' State the functions of LIC.
(2) State the role of National Insurance Company Ltd.
(3) State the m'ganizaﬁnnal pattern of United India Insurance
Co. Ltd.
(4) Explain the term Motor Insurance.
3. Answer any two questions in about 150 words each : [20]
(1) Explain the internal functions of LIC.
(2) Explain the progress of LIC during last decade.
(3) What is the role of TATA ?
(4y Explain the functions of PATA.
4. Answer any ‘fwo questions in about 500 words each : [30]
(1) Explain the need of International Tour and Travel
Organization.
(2) Explain the various problems of water transport.
(3) Explain the future prospectus for tourism in India. What do
yﬂ.u mean by marketing of tourism 7?
(4) Explain the role _crf LIC in economic development of
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Total No. of Questions—2+2] [Total No. of Printed Pages—2 -
[3769]-330
T.Y. B.Com. EXAMINATION, 2010
COMPUTER APPLICATION
Paper V
(VOCATIONAL COURSE).
(2004 PATTERN)
Time : Two Hours : Maximum Marks : 60
N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(7i) TFigures to the right indicate full marks.

SECTION 1
1. Answer the following (any three) : [15]
(@) What is Internet ? Write five uses of Internet.
() Explain Waterfall model to develop Website.
(¢) What is Search Engine and how does it work ?

(d) Explain Web Pyramid with diagram.,

9.  Write short notes on the following (any five) : [15]
(@) DNS
(b) NIC

(¢)  Chatting
(d) IP Address
(e) Intranet

(f) Commercial Website
PT.O.



SECTION II
1.  Answer the following (any three) : : .115]
(¢) Distinguish between Traditional commerce and E-commerce.
(b) Explain three methods of E-payment.
(¢) What is Encryption and Decryption ?
(@) ~ Explain E-market with trade-cycle.

2.  Write short notes on the following (any five) : _ [15]
(@) Digital Signature
(b) EDI Fact
(¢) Internet Commerce
(d) Firewall
(e) Digital Certificate
() EDI
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Total No. of Questions—4] - [Total No. of Printed Pages-

2
[3769]-331
T.Y. B.Com. EXAMINATION, 2010
ADVERTISING, SALES PROMOTION AND
SALES MANAGEMENT
Paper V
(Sales Promotion, Public Relations and
Management of Sales Force)
(VOCATIONAL)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B.

— (i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

‘Narrate functions performed by a sales manager, [15]

Or
What do you mean by sales forecasting ? Describe various methods

of forecasting. , [15]

Define sales budget. What is the importance of sales budget ? [15]
Or

Describe major tools of sales promotion with suitable examples. [15]

Define ‘public relations’. Explain its objectives. [15]
Or -
What do you mean by recruitment ? Explain various sources of

recruitment. [15]
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(a)
(b)
(c)
(d)
(e)
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Write short notes on (any three) :

Compensation
Sales Quota
Sales Audit

Press Conference

Conventions and Trade-shows.

[15]



Total No. of Questions—4] [Total No. of Printed Pages—2

[3769]-335
T.Y. B.Com. EXAMINATION, 2010
TAX IPROCEDURE AND PRACTICES
Paper V
(Customs Act)
(VOCATIONAL COURSE)
(2004 PATTERN)

Time : Two Hours Maximum Marks : 60

N.B. —

(i) . All questions are cﬂmpuléory,

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any seven) : [14]
(1) What is meant by ‘Coastal Goods’ ?
(2) How to find out CIF value ?
(3) Explain the nature of duty under Customs Act.
(4) What is meant by ‘Bonafide Baggage’ ?
(5) Explain the term ‘Tmport’ under Customs Act.
(6) What is meant by ‘Customs-Watters’ ?
(7) Enumerate the kinds of rates of ‘Duty-Drawback’.
(8) What is meant by ‘Bill of Entry’ and Tmport Manifest’ ?
(9) Who is called ‘Person-in-charge” ?
(10) What is the use of ‘Green Channel’ and ‘Red Channel’ ?
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Answer in 50 words each (any two) : . [8]

(1) Explain the term ‘Customs Station’.

(2) What is meant by Foreign going vessel or aircraft’ 7

(3) Explain the term stuffing of container. What are the types
of stuffing of container 7

(4) What is meant by demurrage ? What are the kinds of

demurrage ?

Answer in 150 words each (any three) : [18]

(1)  Distinguish bgtween clearance of good for home consumptions
and warehousing.

(2) Discuss the nature and incidence of Customs duty.

(8) What is the procedure for clearance of imported goods ?

(4) What is meant by ‘Shipping Bill' and ‘Bill of Export’ ?

(b) Distinguish between ‘Customs duty’ and ‘Excise duty’.

Write long answer in 500 words (any one) : [20]

(1) What is meant by “Transaction Value’ and ‘Assessable Value’ ?
What are essentials and importance of ‘transaction value’ and
‘assessable value’ under Customs Act ?

(2) What is meant by ‘Basic Customs Duty’ and ‘Additional Customs

Duty’ ? Discuss various kinds of duties under Customs Act.
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Total No. of Questions—4] |[Total No. of Printed Pages—2

|  [3769]-337
T.Y. B.Com. EXAMINATION, 2010
ENTREPRENEURSHIP DEVELOPMENT

Paper VI-B
(VOCATIONAL)
(2004 PATTERN)
Time : Two Hours Maximum Marks : 50
N.B. :— (i) All questions are compulsory.

(£z) Figures to the right indicate full marks.

Define Entrepreneurship. Describe the functions of an entrepreneur

in detail. ' [12]
Or

What is Market Survey ? What are the various techniques

of it ? [12]

Describe the role of District Industry Centre (DIC) in the process
of SSI development. [12]
Or

Explain various social responsibilities of business. [12]

What do you mean by Human Resource Management ? Explain its

significance in developing small scale industry. [12]
' Or .

Explain the major contents of Project Report to be submitted to

the bank for loan. - [12]

P.T.O.
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(1)
(2)
(3)
(4)
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Write notes on (any two) : : [14]

Role of Commercial Bank in developing SSI
Features of Joint Stock Company
Importance of Cﬂnimuﬂicatinn Skills in business

Motives possessed by an entrepreneur.



Total No. of Questions—4] ~ [Total No. of Printed Pages—2

[3769]1-339
T.Y. B.Com. EXAMINATION, 2010
TAX PROCEDURE AND PRACTICES
Paper VI
(Central Excise)
(VOCATIONAL COURSE)
(2004 PATTERN)

Time : Two Hours Maximum Marks : 60

N.B. :—

(i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer in 20 words each (any seven) : [14]

(1)

(2)
(3)
(4)
(5)
(6)
(7
(8)
(9)
(10)

When does the liability to pay duty arise under Central
Excise ?

Define ‘levy’ and ‘collection’ of the excise duty.

State the constitutional validity of Central Excise.

Define ‘Manufacturing’ under Excise Law.

Define ‘Classification’ of excisable goods.

What do you mean by MRP wvaluation ?

Define ‘Such Goods’.

What do you mean by Captive Consumption ?

Who is required to be registered under Excise Law ?

State the SSI unit exemption limit for excise duty purpose.
PT.0.



2. Answer in

(1)
@)
()
(4)

What
State
State
Write

3. Answer in

50 words each (any two) : II[B]
does invoice contain ?

the wvarious types of excise duties.

the ‘taxable event’ under Central Excise.

a note on ‘Special Economic Zone'

160 words each (any three) : [18]

(1) What do you understand by ‘Goods’ and ‘Excisable Goods’ ?
(2) What is manufacturing and what is not manufacturing ?
(3) Write a note on ‘HSN'.
(4) Write .a note on ‘Tariff Schedules’.
(6)  What do you understand by ‘Related person’ under Excise
Law ?
4,  Answer in 500 words (any one) : [20]
(1) Write down in detail the basic routine procedure to be followed
by the assessee under Central Excise Law.
(2) What do you understand by ‘Removal of Goods’ ? State the
various types of removal and describe in detail.
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